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Question No: 33

a ) How many pieces of %meter of wire can be cut from a wire which is 22> meter long? (5 marks)

(Aol o FE A pe3 £ pst peats
JIHJU)%7W£1V=%+%(/2)

Required pieces of Wire=1(2)—5+% (2 marks)

:%X% (1mark) =%x%(ﬁ}l)
:% (1mark) =%(ﬁ}1)
=70 (1mark) (/)

=700~ 1

Find the square root of 390625 by division method. (5 marks)
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(#5)- ()’ffﬁ"”" 241 ie6390625

625

6 § 390623
36

122 306
244
1245 §225
£225

(1.5marks)

(1.5marks)

(1.5marks)

=I-|

V390625 = 625 (0.5 mark)

/390625 = 625(+0.5)
Question No: 34

a)lf A= {a,b,c,d}, B={a,e,itandC = {e,c, g, h}, then verify associative law of intersection. (5 Marks)
(/7) 5) _Q/Jt‘zd/”JLb“uiG'ilf'@?nC = {e,c,9,h} B = {a,e,i}, A = {a,b,c, d}/ﬁ
A ={a,b,c,d}, B={ae,i},C ={e,c,gh}
ANBNO)=(ANBNC(#1)

A={a,b,c,d}, B={a,e,i},C={e,c,gh} L.H.S= An(BNC)

AN(BNC)=(ANB)NC (1 mark)

L.H.S= AN(BNC)
={a,b,c,d}N({a,e,i}N{e,c,g,h})
={a,b,c,d}N{e} (1 mark)

={} (1 mark)

R.H.S= (ANB)NC

=({e,c,gh}N{aeipPN{ab,c,d}
={e}ﬂ{a,b,c,d}(ﬁ’;1)
={}(#D
R.H.S=(ANBINC

=({a,b,c,d}N{a,e,i})N{e,c,g,h}

~{alN{e,c,g,h} (1 mark) ={e,c,gh}N({aei}n{ab,cd})
=t} (1 mark) ={ec,gh}n{a}(~ 1)
Hence proved that .
AN(BNC)=(ANB)NC ={ 31D
st Un

ANBNC)=(ANB)NC

Feroz bought a car for Rs 75000 and sold it for Rs 100000. Find his profit percentage. (5 Marks)

(#5)-/ p‘%yd(f 61— =53 Ut 3100000515 47 Ut &_3,750008 6 L1_s 2

47 =d= 75000

=51 A ed= 100, 000
ocsrjpod-pind

&= 100,000 — 75,000= 25,000 Rs(+2)
ézj%: pg)jft x 100

%= 200 » 100 = 33. 3344(+3)

Cost price (C.P)= 75000

Sale Price(S.P)= 100000

Profit=S.P-C.P

Profit = 100000 — 75000 = 25000 (2 Marks)
Profit %= 220 5 100

Profit %= 22305 x 100 = 33. 33% (3 Marks)

Question No: 35



https://pecassessment.com/admin/pilot_items/pilot_view_combine/20178
https://pecassessment.com/admin/pilot_items/pilot_view_combine/24214

7,11,15,19,........ ,

7,11,15,19,........ a1 =17, d= 11_7:4(/1)
ap=7,d=11-7=14 (1 mark) .

We know that ’J/u'?L(’KZ
ap=a1+ (n—1)d (1 mark) an = a1+ (n — 1)d(~1)
a,=7+(n—1)4 1 mark ;
an:7_—::é(1n—4)( ) (l(mark) ) an:7+(n—1)(4)(ﬁ51)
a, =3 +4n (1 mark) an:7+4n—4(/1)

a, = 3 + 4n(#1)
Evaluate (48)” by using formula. (5 marks)

A5y S esa$Us 6 (48)

(48) (48)
— (50 — 2)* (1 mark) = (50 — 2)°C~#1)
= (50)> — 2(50) (2) + (2)* (2 marks) — (50)% — 2(50) (2) +(2)%(2)
- §§8Z<Ii2?k)+ 4 (1 mark = 2500 — 200 + 4(+1)
= 2304(~1)

Question No: 36
364 J1r

a ) Find solution of 3x + 5y =2, x+ 2y =4 with the help of substitution method. (5 marks)

(/25)—‘.):/,’)‘”‘_)‘7(3x+ Sy=2x+2y =44 J@)LL/@/J&{?

3X+ 5y =2 o, (1
+2y=4
3XHE5Y =2 e, (i) ALy (i)
Xt2Y =4 i, (ii) « (ii)
from (ii) X=4- 2y, (A)(#1.5)
X=4 -2y (A) (1.5 marks) . / . -
Put the value of x in (i) = Slni(Desd JX
3(4-2y) +5y=2 3(4—2y)+5y=2
12-6y+5y=2
y=10 (1.5 marks) 12 — 6y + 53{ =2
put the vlaue of y=10in (A) y = 10(/7’/1.5)
=4-2(1 . 5
§:4_20( ) L—L/Z’/J)u: Acw,,’u(y=10
x=-16 (2 marks) r =4 — 2(10)
x=-16,y=10 rx=4-—20
T = —16(/?‘;2)

x=-16,y=10

Find the volume of a hemisphere whose radius is 10 cm. (5 marks)
(#5)-c 2 E 1001807 S A6 S ad [
Tk S ad= 104 5

Radius of hemisphere =10

Volume of hemisphere= %nr?’ (1 mark) fgo/w-’”: %nﬁ(/l)
— 2 (22 3 .
= 2(2)(10)° (2 mark = %(%)(10)3(/1)
= 23 x 1000 (1 mark) 44 ;
_ 4420100 (1 mark) = 37 X 1000(/7/1)
— 2095.23cm® (1 mark) = 4000 (1)

= 2095.23 % 55 A1)

Question No: 37
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a ) Construct a rectangle ABCD, when mAB = 5¢cm and mBC = 7cm. (7 marks)

(/7)_n'mB—C = 7TemsimAB = 5cm,{f/?u:/l‘/. ABCD&VVQ
(A1) 28 154B = 5em

On drawing AB=5 cm. (1 mark)

On making angle of 90° at A. (1 mark) (/7/1)—/,:4—1’/.53UK900/,: ALY
On making angle of 90° at B. (1 mark) (/7'/1)-/LL2~)UK900/ B L

On drawing arcs of radius 7 cm from A and B. (2 marks)

(Al BUF U2 F T Bl A LS
(/2)_42._/‘)5’4/;!‘}2{ Q/J)JL).:W
If a dice is rolled then find the probability of getting a prime number. (5 marks)

5)- S 6 e J bsies o LT LB 5]
S ={1,2,3,4,5,6}(#1)

On correct completion and labeling (2 marks)

S =14{1,2,3,4,5,6} (1 mark) _ /
n(S) =6 (1mark) .. n(S) B 6(/1)
Let E be the event "a prime number" ‘406”{4-' 24634 EI&Z/J/
E = {2,3,5} (1mark E=1{2,3,5/(#1
n(E)=3 (1 mark) .
b (E> ) n(E) = 31
— n(S) n(E)
3 1 P\E) =
P(E) = ¢ = 5 (1mark) ( ) n(S)
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